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Note to the students:- All the Questions are compulsory and carry equal marks .      
	Q1. 
	Which of the following is done to convert a continuous time signal into discrete time signal?

	Option A:
	Modulating

	Option B:
	Sampling

	Option C:
	Differentiating

	Option D: 
	Integrating

	
	

	Q2.
	What is the DFT of the four point sequence x(n)={0,1,2,3}?

	Option A:
	{6,-2+2j-2,-2-2j}

	Option B:
	{6,-2-2j,2,-2+2j}

	Option C:
	{6,-2+2j,-2,-2-2j}

	Option D:
	{6,-2-2j,-2,-2+2j}

	
	

	Q3.
	If a system has a bounded output for every value in the bounded input, then the system is said to be BIBO__________

	Option A:
	Causal

	Option B:
	Non-causal

	Option C:
	Stable

	Option D:
	Non-stable

	
	

	Q4.
	The even part of a signal x(t) is?

	Option A:
	x(t)+x(-t)

	Option B:
	x(t)-x(-t)

	Option C:
	(1/2)*(x(t)+x(-t))

	Option D:
	(1/2)*(x(t)-x(-t))

	
	

	Q5.
	Which of the following is true in case of Overlap add method?

	Option A:
	M zeros are appended at last of each data block

	Option B:
	M zeros are appended at first of each data block

	Option C:
	M-1 zeros are appended at last of each data b

	Option D: 
	M-1 zeros are appended at first of each data block

	
	

	Q6.
	Time scaling operation is also known as ___________

	Option A:
	Down-sampling

	Option B:
	Up-sampling

	Option C:
	Sampling

	Option D: 
	Non-sampling

	
	

	Q7. 
	How many complex multiplications are need to be performed for each FFT algorithm?

	Option A:
	(N/2)logN

	Option B:
	Nlog2N

	Option C:
	(N/2)log2N

	Option D: 
	Nlog2N/2

	
	

	Q8. 
	All energy signals will have an average power of ___________

	Option A:
	Infinite

	Option B:
	Zero

	Option C:
	Positive

	Option D: 
	Negative

	
	

	Q9.
	x(n)*δ(n-k)=?

	Option A:
	x(n)

	Option B:
	x(k)

	Option C:
	x(k)*δ(n-k)

	Option D: 
	x(k)*δ(k)

	
	

	Q10. 
	Which of the following is true regarding the number of computations required to compute an N-point DFT?

	Option A:
	N2 complex multiplications and N(N-1) complex additions

	Option B:
	N2 complex additions and N(N-1) complex multiplications

	Option C:
	N2 complex multiplications and N(N+1) complex additions

	Option D: 
	N2 complex additions and N(N+1) complex multiplication

	
	

	Q11. 
	What is the circular convolution of the sequences X1(n)={2,1,2,1} and x2(n)={1,2,3,4}?

	Option A:
	{14,14,16,16}

	Option B:
	{16,16,14,14}

	Option C:
	{2,3,6,4}

	Option D: 
	{14,16,14,16}

	
	

	Q12. 
	In Overlap save method of long sequence filtering, what is the length of the input sequence block?

	Option A:
	L+M+1

	Option B:
	L+M

	Option C:
	L+M-1

	Option D:
	L-M+1

	
	

	Q13.
	DFT is applied to

	Option A:
	Infinite sequences

	Option B:
	Finite discrete sequences

	Option C:
	Continuous infinite signals

	Option D: 
	Continuous finite sequences

	
	

	Q14. 
	A system is said to be unstable if

	Option A:
	None of the poles of its transfer function is shifted to the right half of s-plane

	Option B:
	At least one zero of its transfer function is shifted to the right half of s-plane

	Option C:
	At least one pole of its transfer function is shifted to the right half of s-plane

	Option D: 
	At least one pole of its transfer function is shifted to the left half of s-plane

	
	

	Q15.
	What is the ROC of the signal x(n)=δ(n-k), k>0?

	Option A:
	z=0

	Option B:
	z=∞

	Option C:
	Entire z-plane, except at z=0

	Option D: 
	Entire z-plane, except at z=∞

	
	

	Q16. 
	Which of the following is the auto correlation of x(n)?

	Option A:
	Rxx(l)=x(n)*x(-n)

	Option B:
	Rxx(l)=x(n)*x(n)

	Option C:
	Rxx(l)=x(n)+x(-n)

	Option D: 
	Rxx(l)=x(-n)+x(-n)

	
	

	Q17.
	How many complex multiplications are need to be performed for each FFT algorithm?

	Option A:
	(N/2)logN

	Option B:
	Nlog2N

	Option C:
	(N/2)log2N

	Option D:
	(N)log2N

	
	

	Q18.
	Which of the following has to be performed in sampling rate conversion by rational factor?

	Option A:
	Interpolation

	Option B:
	Decimation

	Option C:
	Either interpolation or decimation

	Option D: 
	interpolation and decimation

	
	

	Q19. 
	The overlap save method is used to calculate

	Option A:
	The discrete convolution between a sampled signal and a finite impulse response (FIR) filter

	Option B:
	The discrete convolution between a sampled signal and an infinite impulse response (IIR) filter

	Option C:
	The discrete convolution between a very long signal and a finite impulse response (FIR) filter

	Option D: 
	The discrete convolution between a very long signal and a infinite impulse response (IIR) filter

	
	

	Q20.
	In IIR Filter design by the Bilinear Transformation, the Bilinear Transformation is a mapping from

	Option A:
	Z-plane to S-plane

	Option B:
	S-plane to Z-plane

	Option C:
	S-plane to J-plane

	Option D:
	J-plane to Z-plane

	
	

	Q21.
	The discrete time function defined as u(n)=n for n≥0; u(n)=0 for n<0 is an _____________

	Option A:
	Unit sample signal

	Option B:
	Unit step signal

	Option C:
	Unit ramp signal

	Option D: 
	Sine wave signal

	
	

	Q22. 
	What is the cross correlation sequence of the following sequences?
x(n)={1,1,0,1}
y(n)={4,-3,-2,1}

	Option A:
	{1,-2,5,3,3,-4,4}

	Option B:
	{1,-1,-5,2,2,-3,4}

	Option C:
	{1,-3,-2,2,5,-3,4}

	Option D: 
	{1,-1,5,3,4,-3,-5}

	
	

	Q23.
	The circular convolution of two sequences in time domain is equivalent  to

	Option A:
	Multiplication of DFTs of two sequences

	Option B:
	Summation of DFTs of two sequences

	Option C:
	Difference of DFTs of two sequences

	Option D: 
	Square of multiplication of DFTs of two sequences

	
	

	Q24. 
	Radix - 2 FFT algorithm performs the computation of DFT in

	Option A:
	N/2Log2 N multiplications and 2Log2 N additions

	Option B:
	N/2Log2 N multiplications and NLog2 N additions

	Option C:
	Log2 N multiplications and N/2Log2 N additions

	Option D: 
	NLog2 N multiplications and N/2Log2 N additions

	
	

	Q25.
	Causal systems are the systems in which

	Option A:
	The output of the system depends on the present and the past inputs

	Option B:
	The output of the system depends only on the present inputs

	Option C:
	The output of the system depends only on the past inputs

	Option D: 
	The output of the system depends on the present input as well as the previous outputs
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